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“Project Management Using Earned Value,” Solution to Case Study 8.2

ADM/PDM Network

* Arrange these tasks in logical sequence using:
A) An Arrow diagram and
B) A Precedence Diagram.

Activity A initiates the project.

Activity A precedes B, C, and D, which proceed concurrently.
Activities B and C precede activity E.

Activities C and D precede activity F

Activities E and F precede activity G.

Activity G completes the project.

Alternate Solution
(Non-Computer Solution)
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9 Activities (2
Dummies)
7 Nodes
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Answers to Problem:
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16 ACTIVITIES (7 “REAL”, 9 “DUMMIES”)
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